£4F AN BALH BT D A A
Kr42 148 xR 3% SERET4 G+ 2

BT A v 4x

/o Hi

.- ZFA = FE R
(2% 5% R fLE
EF-FER) > ARAEH
o 2
.- FER %o xE
; AL G F R R R
12 » 11 » 10 » 9~ 8 » S AR (5)

&uﬁfu%a’%”7b

S-REA | SRS | SRR | b AR
FROERF) | F/RCERF) | ERER) | FRERF)

4
)
™
T
7
e
5 B
S

[
8
i

12

LR pprf= P4 g
) go4-Q 2. e
2 $12:008 | $22:94 | 5$32:84 *4§“7 | "
¥ Zﬁ%ﬁﬂ %%%ﬁ
%7}1% % ?ixl‘F"
ﬁ% > % 4.8 24 % ’gsh&\ﬁ‘m% FH
& g EREY $2 064 | B3 E5A . ¥
- M- D 23k
% 5 4.8 2 FoommpL -
3 $leds | %22:3e | w3zige | 00 E
¥ 4 RF BB S 104
L | R | Pt AAAEIAS UL EE S TERAS 5L LB/ A
7 aaﬁ? /A3 i 0.5/1.5/4.5 4 5 F /1 i8/ %8 40 0.5/1.5/4.5 4 RAEF 1D
= :
& fE i E 0,34 50 PE o EEA 15 A
JRAS | (573 % —5 8 [ Fr— & > 56 [ pF o A TA » 2 4 izdtgo | 50 » .
33 = ¥ A S LSk \
i gsés ga;;z%%gui_’a 4o pE— A B0/ P iERA 15 A 5 ¥ 4ezt iE{‘TS FhF 104
™~ ,.Jz'ﬁ)
n ol 5
ALE | FEPH L6 s XEFEPUE B2 A O BYIEHTERAL o
goge |15 o (HEFam F W) FAEFHS DA
A e
Y 50 &
L1k ZRA A CIPi s % 78 3% 50 % 3 75 % 783% 85 B * }?
o >4 A -G A 24F): 8 A 2):9 A | (24):10 4 = g
At VAN A 64 (2 4%) QQ&):94» | (248) Z D.IGOO/SOO’QQ}E’%L
A IE R B 10 A
¥ [#3F— iaﬁﬁ@mn‘#mW%amm>\zEW%\ﬂﬁw A F B DA
MR S A % L RE EF R (IELTS)] o B (3 AR KT HERE)
T | P CEF %ipp % A2 50t F @5 A
g | XI[Fag—Fs@FaFi i n@giag -7 1824808 234
FmE(RER); rE—Ead n&%& ROERGE—R LR CEE
_E‘:Hb ;1;%_/?5%] ‘izﬁ@:%” LA
%ﬁiﬁﬁ 1t ®F TR2ZR(IPE
we 10 A FEE0A 104 | ¢ s#FREI)~¥PR(D
PRI AARRIEAEE
| EEF T E - AT A ARE A)CAG A) CBH(AA) ~BH3
Bl RS ) cB@a) ) 36 5
1 BOTRIS 6B 1A S5 0,84 4 0,64 354 0.44 -
285024 1545014 ~0%4504
IRTY T 108 4

%Hﬁﬁﬁiiﬁﬂ?’kﬁuﬂhiﬁ (D32 (A F - F ~ BRI ~F Y 4
REFA (DR F7 T R/[MA O T 2ithm (FRFT2 R~ & ~de o As FHET)
(6) A RTA P 2 A2 L0l o




